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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully
before you open the question booklet.

1. Answers are to be given on a separate
answer sheet (OMR sheet).

2. Please write your Roll Number as allotted to
you in the admission card very clearly
on the test-booklet and darken the
appropriate circles on the answer sheet as
per instructions given.

3. There are 50 questions in this test. All are
compulsory.

4. Please follow the instructions given on the
answer sheet for marking the answers.

5. If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back to the questions, which you have
left in the first instance and attempt them.

6. Since the time allotted for this question
paper is very limited, you should make the
best use of it by not spending too much time
on any one question.

7. Rough work can be done on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.

8. Every correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet (OMR)
only to the invigilator after the test.

10. Hindi version of the question paper will be
considered as final in case of any dispute
arising out of variation in translated version.

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.
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(3) MAT-1

N TH AT AT
MENTAL ABILITY TEST

39 UH-UT | Hel 50 AT ¥ | UAF U UH 3k HT 2|
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W91 (1-4)/ Questions (1-4)

TEI U 1 W 4 TH T § TR RGN W, T P U MG § A T
s T (7 ) U I | AT IS 3T AN % A9 53 T AR dhedl § ¥ UF & | Gl Tk
A SIS

Direction : In each of the questions 1 to 4 some of the letters are missing in the
given series with one term missing shown by question mark ( ? ). This term is one of
the alternatives among the four groups of letters given under it. Find the right
alternative.

1. AFJ M, ?.

() O (2) N 3 Q 4) P
2. BD, HJ, NP, ? ,ZB

(1) QS (2) TV 3) YC (4) TU.
3. FOX, IQV, LST, OUR, _?

(1) RPW (2) RWP (3) QVS (4) SXU.
4. qpo, nml, _? .

(1) ghf (2) ik 3) kji (4) hgj.

MW (5-8)/ Questions (5-8)

TEW : U9 5 F 8 TF UAF H UF G- TR &, TTOH FS U TG § S U
s T (?) U WA TR | T8 US 39 S0 F A ¥ T AR ahedl d H Uk § | Wel dohed
A SIS

Direction : In each of the questions 5 to 8 some of the numbers are missing in
the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative.

S. 65, 48, 64, 49, 63, ?.

(1) 53 (2) 52 3) 51 (4) 50.
6. 7, 23, ?, 79, 119.

(1) 47 (2) 49 3) 44 (4) 46.
7. 16, 8, 12, ?, 105.

(1) 6 (2) 30 3) 24 (4) 35.
8. 748, 737, 716, 685, 644, ?.

(1) 634 (2) 643 (3) 503 (4) 593.
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WA (9-11)/ Questions (9 -11)

AW ;AN TS WS W QU 3R I TSR I 3R I ST U E | SR JU U T
I GT AT €, 91 & O Gam 92 ¥ 9 Udid e €1 TShul ol U Y I8 oF ST &
HIF-T TEHY TT T FHYAT T T T T F STTE0T AT ¢ |

Direction : In each of the questions below are given two statements and two
conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions
and then decide which of the given conclusions logically follows from the two given

statements.
9. wHYUA: @ : ot g¢ ool & |
@) : G Foolt I €
T : () Tt 98 P

) : P Fooll € ¢

(1) o T=hY [ T &

(2) A T=RY I FH ©
(3) Tl TERY I AR 11 G &
(4) TA TP R T & TRY 11 T § |

Statements (i) All rats are cats.

i) All cats are dogs.
Conclusions (I) All rats are dogs.

Im - Some cats are rats.
(1)  Only conclusion I is true

(2)  Only conclusion II is true
(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.

10. & : (i) F T HIAT T |
(i) FS FHIgAr AT ¢ |

T () FS dich U ¢ |

(1) F I °ieh

(1) WWI@%

(2) hael TRy I §oF €
(3) TFT TSRS I 3R I1 9T €
(4) T T=PY I AR T E TRY 11 T B |

Statements (i)
(i1)

Conclusions (I)
(IT)

Some chalks are chairs.
Some chairs are tables.
Some chalks are tables.
Some tables are chalks.

(1)  Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true

(4)  Neither conclusion I nor conclusion II is true.
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11. & : @ : IS % HEA TS T el §

() : A IS

T M : 98 o gl
) : T WX % HRUT HIA TS g8 |

(1) haeT TFY [ T €

(2) haeT =Y I T &

(3) T TSRY I AR II T §

(4) T TEHYI AR A& T 11 TA

Statements (i) Without rains the crops will not be good.
(i) The crops were good.
Conclusions (I) : There were rains.
(Im - Crops were good due to good fertilizers.
(1)  Only conclusion I is true

(2)  Only conclusion II is true
(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.

12. T § @ HA-T o7 NG o4, Ug 3R JAeR0T W& TG H TS T § 2

(1) (2)

e (0 (4)

Which of the following Venn diagrams correctly represents persons, trees and
environment ?

©®

(1) (2)

@ Q1D )

13. T H T FA-T 9 3IRG AR, ITRAE 3R IR T&l 9 § TGRIT AT € 2

©®

(1) (2)

(3) @ (4)
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Which of the following Venn diagrams correctly represents Jaipur, Rajasthan
and India ?

(1) (2) OOO

14.
2 R31L-ES
T «
e IN
i y 8 «— TR
IWI® TF H Fo WeR AR F & 2
(1) S (2) 11 (3) 10 (4) 6.
2 Literate
Rural i
% A 6 N
5 y 8 <— Employment
In the above diagram, how many literates are in employment ?
(1) S (2) 11 (3) 10 (4) 6.
15.

N a /%IEIT%H

A
(X

IRk =9 H AR 99 &l Yo I T &

(1) 2 In(ggrvige 3) 9 4 17.
\ /Married

Gt

(— Men

In the above diagram the number of men who are married and in service is
(1) 2 (2) 6 B) 9 “4) 17.
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M9 (16 -19) / Questions ( 16 - 19)

TEY : YT 16 ¥ 19 TF H dF dhed HU I ¥ THE € W] UH dHed TG

3T €| 3TN gohed g Y ¥l SR A T@T |

Direction : In questions 16 to 19 three alternatives are alike in a certain way

but the rest one is different. Find out the odd one and write correct answer.

16.

17.

18.

19.

20.

21.

(1) ACEGF (2) FHJLK
(3) KMOQP (4) UWYZA.
(1) 125 (2) 150
(3) 300 (4) 250.
(1) 28,4 (2) 35,5
3) 63,7 4) 56, 8.
(1) ¥WZ / Cement (2) %2 / Brick
(3) ®l / Sand (4) T/ Colour.
T4 T U | At T % U Fesw T HE-A1 3T EA 2
Rl e
i 2
e e
(1) o (2) =0 (3) e (4) e
In the given dice the colour of opposite side of the face having blue colour will be
Blue Red
D @
5 :
Red = Yellow =)
(1) Red (2) Green (3) Yellow (4) Blue.
T T TG Y STH qAT B BH-TT Tehed Gl &I ?
B A B
C E D
A D F
(1) A% aRid E® (2) E® awd C®
3) D% aRd C¥ (4) A® TR FTRI |
Which alternative is correct in the given figures of dice ?
B A B
C E D
A D F
(1) Eis opposite of A (2) Cis opposite of E
(3) Cis opposite of D (4) Fis not opposite of A.
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T (22 -23) / Questions ( 22 - 23 )
A& : T EE MF T P o OF TSI B HeATR I B W ST AT o ST IS¢

Direction : Answer on the basis of given figure that the different faces are folded
in the form of cube.

R

22. G P | B | W

Y

T G G HH-A AF T T P GET A T TéT e ?

Which figure of cube is not correctly formed in the following figures ?

Y w
P R
(1) G (2) B
P P
Y B
3) B (4) w
6
23. 115
2
3|4

TG G HH-T T I H T BT ahed Tal e ?

Which alternative is correct in the following figures of dice ?

6 6
5 4
(A) 2 (B) 5
6 4
3 1
(€) 2 (D) 5
(1) HaeTA (2) %A B (3) AT C A (4) A, B, C a1 D.
(1) Only A (2) Only B (3) Both AandC (4) A, B,CandD.
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24.

25.

26.

27.

(9) MAT-1

T FE W H EAST I FAST T BAT H CAT @l S @ SEN F& AT H RAT

Y THN oGl ST § 2

If in a coded language the word ‘EAST’ is written as ‘FAST’ and ‘BAT’ is written as
‘CAT’, then in the same coded language ‘RAT’ will be written as

(1) TAP (2) SAT (3) PAT (4) QAT.

I P= 16, NC= 17 991 AEO = 21 &, @l NEHLA = ?

If P=16, NC= 17 and AEO = 21, then what is the value of NEHLA ?

(1) 41 (2) 40 (3) 48 (4) 46.

IT FE F N F A TT R U = 276, ‘W T FH A = 789’ TA THT T H
U = 247’ & A J&1 TS BT HIS BT

In a coded language ‘Red colour pen = 276’, ‘Green colour flower = 789’ and
‘White colour pen = 247’. Then code for white is

1) 2 2 5 3) 4 4 7.
I3 FHE F 9 § NUMBER H PSOZGP @l STl €, o 39 % 9T H BLOOD i
Y AT S ?

In a coded language ‘NUMBER’ is written as ‘PSOZGP’. Then in the same coded
language ‘BLOOD’ will be written as
(1) ZJMMB (2) ZNMOB (3) DJQMF (4) DNQQF.

M (28 -30) / Questions ( 28 - 30)

W . TAATT TAF T H UF HYT qeIva] 3 TR 1 T I JU T & | TS I

UGHR AT T HI S T hH-TT TN U T FHAAT T Th T € G ST FIA ¢ |

Direction : In each of the following questions a statement is given followed by

two conclusions I and II. Read the conclusions and then decide which of the given
conclusions logically follows from the two given statements.

28.

FAT : T B Eh & |
HIE ATH A< 5 el &
T ) : T H HE e g el §l

1) : P T 7 g @ S
(1) ool T=hY [ T &
(2) HAA T=RY I FA ©
(3) Tl TERY I AR 11 T &
(4) A Y R T E TRY 11 T B |

Statements : All students are boys.
No boy is dull.
Conclusions (I) : There is no girl student in the class.
(Im - No student is dull.
(1)  Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.
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29.

30.

31.

32.

HA Tff £ FFAH |
oft MR JFIH & |
T : M : W ES FTEN
@) : TS JEAA AT MIH Tel §

(1) ool T=hY [ T &

(2) HaA Y I T §

(3) T TRY I AR II T §

(4) A Y SR T & TRY 11 T 7 |

Statements : All poets are intelligent.
All singers are intelligent.
Conclusions (I) : All singers are poet.
(I Some intelligent persons are not singers.
(1)  Only conclusion I is true
(2)  Only conclusion II is true

(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.

HAT : FE W TF FR H AE9THAT & — Th 0T
Ty O : W PR & aeT W W 3T €|
) : AH AU B TR ST

(1) haeT T=hY [ T &

(2) HaA Y I T §

(3) Tl TRY I AR II T §

(4) TA Y SR T & TRY 11 T B |

Statement : A car is required on rent — an advertisement
Conclusions (I) : All types of vehicles are available on rent.

Im - People will respond to the advertisement.
(1)  Only conclusion I is true

(2)  Only conclusion II is true
(3) Both conclusions I and II are true
(4)  Neither conclusion I nor conclusion II is true.

T Ud ot WIS &, W UE S e &1 TR T S HT WE & | W H W R g E 2

(1) Ud 2) W (3) =T (4) ST

A and B are brothers, C and D are sisters. The son of A is brother of D. Then the
relation of B with Cis

(1) Husband (2) Brother (3) Uncle (4) Nephew.

T, IR FT 9 €, GACT, THY H TEA g1 I9h, AT H QT &1 A H GACT d
H-T GEY € 2

(1) 9= (2) W (3) it (4)

Ram is the brother of Deepak, Sunita is sister of Rajesh, Deepak is the son of
Sunita. How is Ram related to Sunita ?

(1) Son (2) Brother (3) Nephew (4) Father.
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33.

34.

35.

36.

37.

38.

39.

40.

(11) MAT-1

T3 79 ® 86 = 6897 &, A 53 @ 47 =

If 79 @ 86 = 6897, then the value of 53 @ 47 =

(1) 5347 (2) 7435 (3) 2491 (4) 3574.

T 719, 609, 735, 689, 834, 937, 600, 798, 610 I ANE FH T T W TH UT
% 37T T TUHEHS BT

If the numbers 719, 609, 735, 689, 834, 937, 600, 798, 610 are arranged in
ascending order, then the multiplication of digits of the mid-number is

(1) 96 2) 9 3) 17 (4) 63.

IT P>0Q,Q>R3AR R> S&, @ P.?.S.

If P>Q, Q>R and R> S, then P..?.. S.

(1) P>S 2) P=S 3) P<S 4) P>S.

SfEeT &1 IET IR W 23 af WM TS IR R ¥ 15 9 I §, O U H FA B
TAFHE ?

Urmila has 23rd rank from the right and 15th rank from the left. Then, how
many persons are there in the row ?

(1) 37 (2) 38 3) 9 4) 8.
IT Fd OE H 4 ARG i TIGR 947 @ 3T 918 Sl 27 dRIE i hIH-GT & 8 2
(1) ¥HaR (2) TR (3) THAR (4) VAR

If 4th day of any month was Sunday, what will be the day on 27th day of the
same month ?

(1) Monday (2) Tuesday (3) Wednesday (4) Saturday.
T 3 SeRT, 2004 Hi WHAR 1, T 5 3TA, 2004 Fl HH-A1 T A 2

(1) 9E9IR 2) qHaR (3) YdaR (4) WHITER |
If 3rd January, 2004 was Monday, what will be the day on Sth April, 2004 ?
(1) Wednesday (2) Monday (3) Sunday (4) Tuesday.

TT 14 S[E, 1995 T IFRAR AT, A 30 AT, 1994 Tl HH-TT 57 T ?

(1) Y9arR 2) qHaR (3) W&k (4) FYaIRI

If 14th July of 1995 was Friday, then what was the day on 30th March of 1994 ?
(1) Sunday (2) Monday (3) Tuesday (4) Wednesday.
ST ¥ 4 37 Y9 HHAR 71 3T ¥ 3 IF 15 -1 57 &A1 2

(1) Y9arR 2) qHaR (3) W&k (4) FYaIRI

If 4 days before today it was Monday, what day will it fall on after 3 days ?
(1) Sunday (2) Monday (3) Tuesday (4) Wednesday.

NTSE(I)/15 - MAT [ P.T.O.



MAT-1

(12)

MW (41 -45) / Questions (41 -45)
W WA 41 W 45T YIS H O 99 T4 T 8| I W UH °F I I § A ol
I €| 39 98 I Sl A IS
Direction : In questions 41 to 45 there are four figures given. One of these does
not correlate with the rest of the figures. Find out that odd figure.

a | F

I_l_I

A

/>\,

(1)

(2)

(3)

(4

42.

X7

(1)

(3)

(40

43- él\ [

A

U
-

(3)

(4

45.

o

©

(1)

(2)

(3)

()

MW (46 - 47 ) / Questions (46 - 47 )

I : U 46 TS 47 H WA % & WIE &, M U W B GHE-TH T W

H

ITR- T FEd & | G- TF TF FHH H UF & 9% UH W g B | SR SW-T A 9 U o
T T A HAT §, ST GHR- T § SFAER ST SISl ST 9oh | Gel 3TR- o i 1 i ST |

Direction :

In questions 46 and 47 there are two sets of figures. One set

contains problem-figures while the other has answer-figures. There is a sequence
according to which the problem-figures are arranged. You have to select one figure
from the set of answer-figures which can be placed in sequence after the set of

problem-figures. Find out the correct figure.

46.

Y- T / Problem-figures

3T-TF / Answer-figures

-

—>

—_

<

<«
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47.

48.

49.

50.

(13) MAT-1

Y- T / Problem-figures 3-TF / Answer-figures
- 4 A= =A| = A =
_ T AN < A = - - - -
(1) (2) (3) Q)

THAAET AFTH Hd AA© 2

How many triangles are present in the following figure ?
A

B C
(1) 14 (2) 10 3) 12 (4) 09,
T T TR H UH HAST o he Bl HH F TAMER HIGT ST €1 H AGRT 3MPp d
AT e W -9 3 T s ?

In the following question, three figures showing a sequence of folding a paper are
given. Which could resemble the figure when the third figure is unfolded ?

HHYET- I3 / Problem-figures 3T-9I9 / Answer-figures

D (1)@ (2) (3)@ (4)@

IC T IR Thedl § F -7 & T GHET 3P T HT Tl U T T § ?

Choose the correct mirror image of the given problem figure from given four
alternatives.

- /] AN

(1) (2) (3) (4)
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SPACE FOR ROUGH WORK / 7% & & ®U W&
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SPACE FOR ROUGH WORK / 7% & & ®U W&

NTSE(I)/ 15 — MAT



